a(0 @) (raqd)

107

1072

Ratio

SICEWATL

owp./p,)

Ratio

J..J._ N 5 A
E ' N !
4 [ HE 11+ (L Flt--
0.oH :
83> 1 0 1 2 3

TP n (PCA to beamline)

a(d cot(d))

10

Ratl

102

1013
0.9H
0.8 £

-3

-1

0 1 2 3

TP n (PCA to beamline)

—=— DQM_mKFit_TT_base
—e— DQM_mkFit_TT_retrain_noCandDNN
—— DQM_mkFit_TT_retrain

iy
LI L L
ra
+

-2 -1 0 1 2 3
TP n (PCA to beamline)

|
w

=

I | t¢ "
| L]
I : i Mt
-1l HTHA L 0 L EELA T TR
107" BEHR s 3o L EEH EEF o
B -: 'l
| | il | |
1.4F1- -

1.2 1

iy

1- 31 -4 - -HH LTI -] - ¢4-
'

0o 1 2 3
TP n (PCA to beamline)

w...,...,...,.
IN) et
|
i

0.g!

oo a,) (cm)

Ratio

z

H

S
L
[

1072

T LT TTTT

..........................

1.z

1.1

0.9

iy
LLLLN LA S LAY LR

08

0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


